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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 467 58.19 | =hst | 0oo ~ 000|162 818 ZznLst 1.00 | 5.00 ~ 5.00 5819 | #ns | 5,00 ~ 500 1.62 818
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 | 0.00 ~ 4.58 57.16 | =hst | 0oo ~ 0.00| 1.59 8.01 znLst 1.00 | 5.00 ~ 5.00 57.16 | =N | 5,00 ~ 500 1.69 8.01
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 0.00 ~ 5.09 63.47 | FnLSY | 000 ~ 0.00| 1.60 8.08 znLst 1.00 | 5.00 ~ 5.70 63.47 | =hS | .00 ~ 5.70 | 1.60 8.08
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ZznLst 1.00 | 0.00 ~ 5.03 62.74 | TS | 000 ~ 503)1.79 9.06 znLst 1.00 | 5.00 ~ 5.40 62.74 | =hS | 6,00 ~ 540 | 1.79 9.06
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z# %3 — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 5678 72.83 | =LY | 000 ~ 0.00)|1.70 8.59 znLst 1.00 | 5.00 ~ 6.50 72.33 | EnRS | 6.00 ~ 650 | 1.70 8.59
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 5678 72.83 | =S | 000 ~ 0.00)1.70 8.69 ZznLst 1.00 | 5.00 ~ 6.50 72.33 | EnRS | .00 ~ 6.50 | 1.70 8.69
9 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 657 69.49 | =LY | 000 ~ 557 1.93 9.74 znLst 1.00 | 5.00 ~ 6.60 69.49 | =hLS | 6,00 ~ 6.60 | 1.93 9.74
10 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
znLst 1.00 | 0.00 ~ 5.51 68.76 | =LY | 000 ~ 551 1.93 973 znLst 1.00 | 5.00 ~ 6.50 68.76 | TnLS | 65,00 ~ 6.50 | 1.93 973
17 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — —
znLst 1.00 | 0.00 ~ 5.51 68.76 | =LY | 000 ~ 551 1.93 973 znLst 1.00 | 5.00 ~ 6.50 68.76 | ThS | 65,00 ~ 6.50 | 1.93 973
19 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — — |3mZE#BZ B - ~ — — —
znLst 1.00 1 000 ~ 418 52.33 | =hs | 000 ~ 418|204 10.33 znLst 1.00 | 5.00 ~ 5.10 52.33 | #nLS | 5,00 ~ 510|204 10.33
13 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ B - ~ — — —
znLst 1.00 | 0.00 ~ 5.34 66.65 | TS | 000 ~ 000 1.75 8.86 znLst 1.00 | 5.00 ~ 5.80 66.65 | ThS | 6,00 ~ 580|175 8.86
14 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ B - ~ — — —
ZznLst 1.00 1 0.00 ~ 586 73.28 | =LY 000 ~ 000|177 8.93 znLst 1.00 | 5.00 ~ 6.60 73.28 | EnRS | 5.00 ~ 660 |1.77 8.93
15 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — —
zhList 1.00 | 000 ~ 544 67.82 | Fhst | 000 ~ 544)1.95 9.85 LS 1.00 | 5.00 ~ 6.50 67.82 | #hs | 500 ~ 650 1.95 9.85
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